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3.3 Common Factors of a Polynomial @

LESSON FOCUS Model and record factoring a polynomial.

Compare multiplying and factoring in arithmetic and algebra.

In Arithmetic In Algebra
Multiply factors to form a Expand an expression to form
product. a product.

(4)(7) = 28 3(2—5a) =6 — 15a
Factor a number by writing Factora polynomial by writing it
it as a product of factors. as a product of factors.

28 = (4)(7) 6 — 15a = 3(2 — 5a)



Factoring is the same as the process of PRIME FACTORIZATION...
Only it is done using algebra skills!!

Determine the prime factorization for each of the following...
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Factoring: The process of expressing a polynomial as the product
of it's factors.

We will now examine a variety of factoring techniques
] =
"
I. Greatest Common Factor
Factor each binomial.

a) 6n+9 b) 6¢c+ 47
— T¢ —_—

3R <3< (2t 50)



m Factoring Trinomials

Factor the trinomial 3 — 10z — 52°.
s s

= 6(\ -z -
R
= ~s(—;+1e+a§

m Factoring Polynomials in More than One Variable

Factor the trinomial. Verify that the factors are correct.

—12x%y — 2057 — 16247
oy g ‘I-&a

¥ (3= Sy -7‘x§>



Factor each of the following:

om*n® — 6m’n’ 425%* —14s* — 775"
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Get the idea....let's make things a 1|’r’r|e more

interesting... Ry (ﬁ:\ e *%
Factor each of the following: >
/\/\ ’h-‘
30w’ @) -24w' Q) > 14x(a—7)-2(a—7
2(a-1 2<q——‘

62 (6un—) (- )



Lt T=n2
3x’ (x—3)+24y(x—3)-15(x-3) 5w (2w—1)’ (Q,MLJ)g

o ﬂ <lwf
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Checkpoint...do you really understand??
Completely factor each of the following polynomials:

9+ 8b° —32n° +32n° + 40n°

—10y" + 6y — 4y — 8¢ 30y 232 + 50y — 10423

3a(2a+ 5b) — Th(2a + 5b) 6w’ (5a—3)" +4w(5a-3)°



ch{'\Q ?POBLQM S;
?a. /5S
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